
84

RA
CC

OR
DI

 O
LE

OD
IN

AM
IC

I H
YD

RA
UL

IC
 F

IT
TI

NG
S

www.hiflexitalia.com

//  003020 - VITE FORATA METRICA
//  METRIC BOLT

Code
ID

F1
CH LT L

Dash mm mm mm

003020-03 10 M10X1.0 14,0 19,00 24,0

003020-04 12 M12X1.5 17,0 24,00 29,0

003020-05 14 M14X1.5 19,0 28,00 34,0

003020-06 16 M16X1.5 22,0 34,00 41,0

003020-08 18 M18X1.5 24,0 37,00 44,0

003020-10 20 M20X1.5 32,0 42,00 52,0

003020-12 22 M22X1.5 27,0 41,00 48,0

003020-20 26 M26X1.5 32,0 42,00 52,0

003020-24 30 M30X1.5 38,0 51,00 62,0

RACCORDI OLEODINAMICI HYDRAULIC FITTINGS // SUPERTRAK // INSERTI METRICI DIN DIN METRIC INSERTS




